Algebra 1 Name 1D 1

8.3 Practice A Date Period

8.3 INTRODUCTION TO CONVERTING NEGATIVE TO POSITIVE EXPONENTS.
Simplify. Answer using only positive exponents.
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NAQ.c.3 Evaluate complex numeric expressions with whole number exponents demonstrating

the ability to use the product, power, and quotient properties

8.3A (continued)

#'s 11-14, SHOW THE FOLLOWING WORK - (1) SHOW +,-,* EXPONENTS, (2)

EXPAND, then (3) EVALUATE
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REVIEW EXPONENTS WITH NUMBERS AND VARIABLE. Simplify. Clearly show work.
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Name ‘KE—\IK ID: 1

Algebra 1
8.3 Practice B Date Period
WORKING WIITH DIVISION. Simplify. Clearly show work. Use only positive exponents.
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8.3B (continued)

Simplify. Clearly show work. Your answer should contain only positive exponents.
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